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O000 ROOOOOOAdata.frame O OO

oooo

> d2 <- read.csv("d2.csv")

>d2 # d2 OO0 data.frame OO0

y X Ctgr
1286 0 A
2 8 0 B
4 3781 A
5148 1 B
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Xtabs: 0O O0OOO0OO ROOOO

y X Ctgr
1286 0 A
2 8 0 B
43781 A
5148 1 B

> (ct2 <- xtabs(y ~ X + Ctgr, data = d2))

Ctgr
X A B
0O 286 85
1 378 148
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xtabs: UOOOOOOOOO

> xtabs(y ~ X, data = d2)

X
0 1
371 526
> xtabs(y ~ Ctgr, data = d2)
Ctgr
A B
664 233
> xtabs(y ~ Ctgr + X, data = d2)
X
Ctgr 0 1
A 286 378
B 85 148
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2x20000 ooooooo

xtabs: OO OOMO

Ctgr

X A B
0 286 85
1 378 148

> plot(ct2, col = c("orange", "blue"))

X0 X1
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library(lattice) JO O QOO0

Ctgr
X A B
0 286 85
1 378 148

> library(lattice)

> xyplot(log(y) ~ factor(X), data = d2, groups = Ctgr, type = "b")
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Oodddooooooododdog

0000000000000 (: 00000D0e.g. 2z = B+ foxi)

>

1

= logistic(z;) = —————
q ogistic(z;) T+ exp(—2)

logistic <- function(z) 1 / (1 + exp(-z)) # 0O 0OOO

> z <- seq(-6, 6, 0.1)
> plot(z, logistic(z), type = "1")
o
@
0_‘(3
O &
Dv |
1 |
oy | i
° i
o ‘
o 1 I
-6 4 -2 0 2 4 6
oooog =z
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fOEE0Ea0 GLM A0

logit link function

o logistic (0 0
1

1+ exp(—(f1 + Paz))

q= = logistic(f31 + B21)

o logit O O
q
—q

logit(q) = log . = 1 + Pox

logit O logistic O O O O U logistic O logit 0 O OO

logit is the inverse function of logistic function, vice versa
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00000 GLM OO0O0O0O0OO

Ctgr
X A B
0 286 85
1 378 148
~  Binom( , +yB,2)
logit(ga ) = +0a X

> summary(glm(ct2 ~ c(0, 1), data = d2, family = binomial))

(...0..0

Estimate Std. Error z value Pr(>|z|)
(Intercept) 1.213 0.124 9.82 <2e-16
c(0, 1) -0.276 0.157 -1.76 0.079

0000 (http://goo.gl/HQbeoh) 00000000000000000 2015-09-04 31/ 77


http://goo.gl/HQbeoh

Oodddoooooooddooooonan

logit(q. ) = 1.213 + (—0.276) X

< 5
° S
° 0 1
X
ogooo XoO X100... DDD(XE{O,I}) AIC
0000  logit(gr..) =as +bsX  16.5
0000 logit(gs.) = 17.6

0000 (http://goo.gl/HQbeoh) 00000000000000000 2015-09-04 32/ 77


http://goo.gl/HQbeoh

2x2000000000 000000000 GLM OOOOODOOO
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0000000 GLM (0O0O00O) — goooo
Ctgr
X A B
0 286 85 ~  Pois( )
1 378 148 log( ) = X

> # CtgrA OO
> summary(glm(y ~ X, data = d2[d2$Ctgr == "A",], family = poisson))
...0..0
Estimate Std. Error z value Pr(>|zl|)
(Intercept) 5.6560 0.0591 95.65 < 2e-16
X 0.2789 0.0784 3.56 0.00037
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0000000 GLM (0000) —Ctgr BOOOOO

Ctgr
X A B
0 286 85 yse ~ Pois(n.)
1 378 148
log(AB,x) = aB+ X
> # CtgrB OO
> summary(glm(y ~ X, data = d2[d2$Ctgr == "B",], family = poisson))
...0..0
Estimate Std. Error z value Pr(>|zl|)
(Intercept) 4.443 0.108 40.96 < 2e-16
X 0.555 0.136 4.07 4.6e-05
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log() 1 ) = 5.66 + 0.279X log(AB.z) = 4.44 + 0.555X
s g
Eg £
RN 8

0
0

X
X0, X100.. 0O0O0O AIC ooo AIC
oooo = + 9. X 193 Bz =ap+ X 17.1
ogooo = 30.1 AB,z = QB 32.4
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O00000 GLMOOOOO GLM OOO0OO

e 000D GLM: logit(q. ,) =a. + 0. X
1

T Tt exp[—(0n + b X)]
e JODODDODO: log(Ay,) =0+ 0. X 0O0O
=exp(as + 1 X)
)\B‘IL' = eXp(OéH + BBX)

...... O ooooagr?
exp(0 + 7.X)

+ gz exp(a, + 7. X) + exp(ag + fsX)
1

1+ explag — o, + (Bs — 7.)X]

0000 (http://goo.gl/HQbeoh) 00000000000000000 2015-09-04 38 /77


http://goo.gl/HQbeoh

oooobo: bobob0 GMOODODO GgIM OOodnog

ooooo GLM
1

T T+ exp[—(0n + 0. X))
0000000 GLM (0D0D00)

1
+ Ap.o - 1+ explag —as + (B — 04)X]
ogoood......
0oo0 GLM 000000 GLM
= — QO
= *BB
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2x2000000000 000000000 GLM 00000000

O0: 000ooobobobobobi0 GLM

o000 GLM O0o0o0oooo0 GLM
— 1213 = —ap
= 0276 = — By

>0000 GuM (A ODOOO)
> glm(ct2 ~ c(0, 1), data = d2, family = binomial)

(Intercept) c(0, 1)
1.213 -0.276
> 000000 6LM (A OODOO)
> glm(y ~ X, data = d2[d2$Ctgr == "A",], family = poisson)
(Intercept) X
5.656 0.279
> 000000 6M (B OOOO)
> glm(y ~ X, data = d2[d2$Ctgr == "B",], family = poisson)
(Intercept) X
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ob: 00000 GLMOOOOOD GLM OODOODO

0000000 GLM ( ) D0O0OO0000O0 GLM (Ctgr B)
<(8 mg
le ﬁ‘v
g 2
5§ 5§

0
0

lambda_*
200 400

0

1

X
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0000000 GLM (0DO00O)

gbobogoooooboooboo

> summary(glm(y ~ X * Ctgr, data = d2, family = poisson))

(...0..0)
Coefficients:

Estimate Std. Error z value Pr(>|z|)
(Intercept) 5.6560 0.0591 95.65 < 2e-16
X 0.2789 0.0784 3.56 0.00037
CtgrB -1.2133 0.1235 -9.82 < 2e-16
X:CtgrB 0.2757 0.1570 1.76 0.07921
(...0..0

0o0oooooooooono GLMOODO - 0000 GLMOOOO
= 5.66 ap = 5.66 —1.21

=0.279 B = 0.279 + 0.276
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0000000000 GLMOOODOO (O)

0000000 GLM ( ) D0O0OO0000O0 GLM (Ctgr B)
<(8 mg
ﬂslw ﬁ‘v
g 2
5§ 5§

0
0

lambda_*
200 400

0

1

X
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O0oooooooo 000000000 GLM 00000000

goddootood.: oodoodoodoouoouoood
00 X, Ay 00000000000000000000000000 o, y0000az=k y=n—k0000000
plx=k,y=n—k) 00000000000000000

p(x=k,y=n—k) = pl@=k) ply=n—k)

= pl=klz+y=mn)plx+y=n)

po=hloty=n) = PE=BPG=nZE
p(z+y=n)
AE exp(—Ag) AP TFexp(—Ay) o P
_ i _ AR Ay k/ DA AT
noALexp(—Az) AR lexp(=Xy)  kl(n — k) =hil(n — i)
ig} 71 =01
00oo0oooo
o+ Ay)" i n! i yn—i oo i LA O A" )
e AT =D ——— ] =
v Y =0 i(n —a)! Ty =0 il(n —i)! n!
000000000000000 p(z=kllz+y=n)000000000000000000
plz =kllz+y=n)= L k/O\ A" n! A% Ay
v - 7 k!N (n — k)! Tk n — k) (A + AR (Ap A+ Ay)nk

Az

000 ¢g= ————— 00000000000 p(z=k|lx4+y=n)000000000000000000
Az 4 Ay

k n—
r=kllz+y=n)= ———— 1—
p( lz+y=n) k!(n_k)!q< a)
(0ooo)
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2x30000 00000 GLM O7?

(Section 4) 2 X 3 D D D D

ooooo GgLMO?

O00oOoo0O0 GLMO?

0000 (http://goo.gl/HQbeoh) 00000000000000000 2015-09-04 46 / 77


http://goo.gl/HQbeoh

2x30000 00000 GLM O7?

xtabs: 2x3 000000

Ctgr

X A B C
0 286 85
1 378 148 17

> plot(ct3, col = c("orange", "blue", "green"))

X0 X1
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2x30000 00000 GLM O7?

library(lattice) JO O QOO0

Ctgr
X A B C
0 286 85

1 378 148 17
> library(lattice)

> xyplot(log(y) ~ factor(X), data = d3, groups = Ctgr, type = "b")

log(y)
N W h O O
|
[

T T
0 1
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0000000 GLM (00O00)

> glm(y ~ X * Ctgr, data = d3, family = poisson)

G(...0..0

Coefficients:

(Intercept) X CtgrB CtgrC X:CtgrB X:CtgrC
5.656 0.279 -1.213 -3.710 0.276 0.608

ooooooooooooo GgLMOOoooooooooo

~  Pois( )
log( ) = + 9. X
= 5.66 ap = 5.66 — 1.21 ac = 5.66 — 3.71
= 0.279 fe = 0.279 + 0.276 Be = 0.279 4+ 0.608
0000 (http://goo.gl/HQbeoh) 000O00D000000000000
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2x30000 00000 GLM O7?

oooooooooonD GgLkM Ooooon

0o0o0oooodd GLM

lambda_A

oooo

400

200

400

*
©
o
a
£
K]

200

0

(http://goo.gl/HQbeoh)

o
<
°
2
£
s

o o

S o3
o
E
5

o )

3 3

& SR

o o

00000000000000000

oooo0o GLM

lambda_*

1

X
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0000000000000 GLM

>ct3 # 000000
Ctgr
X A B C
0 286 85 7
1 378 148 17
> library(nnet) # nnet package OO 00O
> multinom(ct3 ~ c(0, 1))
...0..0
Coefficients:
(Intercept) c(0, 1)EI Oooooooooogo GLM
B -1.2133 0.27552
C -3.7097 0.60763 yB,s ~ Multinom(gs,., 30000)
yc,. ~ Multinom(gc,, 30000)

> # 0doodd GIM oodogpe | R
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2x90000 000 GLMOOOO - 0O000O0O00DO

(Section 5) 2 X 9 D D D D

000 GLMOODOO - 00000000

oooooboobooboooooon

0000 (http://goo.gl/HQbeoh) 00000000000000000 2015-09-04

52 /77


http://goo.gl/HQbeoh

O000000: 000000 90O0O0O0O!

> d2x9
y X Ctgr
1 620 A
2 210 B
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xtabs: OO OOMO

Ctgr

X A B CDETFGHTI
0622114 11 10 10 2 0 2
148 34221716 7 2 1 1

> plot(d2x9, col = c(OODOOOOODOO))
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library(lattice) JO O QOO0

Ctgr
X A B CDEVF G H I
06221 14 11 10 10 2 0 2
148 34 221716 7 2 1 1
> library(lattice)

> xyplot(sqrt(y) ~ factor(X), data = d2x9, groups = Ctgr, type = "b")
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0000000 GLM (0DO00O)

> d2x9
Ctgr
X A B CDEVF G HTI
0622114 11 10 10 2 0 2
148 34221716 7 2 1 1
> summary(glm(y ~ X * Ctgr, data = d2x9, family = poisson))

(Intercept) X CtgrB CtgrC
4.127 -0.256 -1.083 -1.488
CtgrD CtgrE CtgrF CtgrG
-1.729 -1.825 -1.825 -3.434
CtgrH CtarI x:CtgrB x:CtgrC
-26.430 -3.434 0.738 0.708
x:CtgrD x:CtgrE x:CtgrF x:CtfrG
0.691 0.726 -0.101 0.256
x:CtgrH x:Ctgrl
22.559 -0.437 HO ODOooooooooo!
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O0o0o00ooDoD GLMM OOOOOQOOo?

Ctgr UODDODOODODOOOO -xXxOOoOOoog?

> (fit.glmm <- glmmML(y ~ X, data = d2x9,
+ cluster = Ctgr, family = poisson))

coef se(coef) z Pr(>|zl)
(Intercept) 2.012 0.465 4.323 1.5e-05
X 0.114 0.120 0.956 3.4e-01

> fit.glmm$posterior.modes
[1] 1.926862 1.230935 0.807098 0.557225 0.483854

[6] 0.067305 -1.218522 -2.005846 -1.426968
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